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Alternativ kann man die VE auch spéter ausfiihren:
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dx(Fz A Gx),Vo(Fr — Hx) F Jx(Gx A Hx)

Jz(Fz A Gzx)
Va(Fx — Hzx)
Fu A Gu

Fu— Hu

Gu N Hu
Jz(Gx A Hz)
Jx(Gz N Hz)

VB:2
AB:3
—B:4,5
AB:3
ANE:6,7
JE:8
3B:1,3-9

JaxVyLxy = VadyLyx

JxVyLaxy
L Yy Luy
Luv
JyLyv
VadyLyx
VadyLyx

JxVyLxy
T Yy Luy
Luv
JyLyv
JyLyv
VadyLyx

VB:2
JE:3
VE:4
IB:1,2-5

VB:2
JE:3
JB:1,24
VE:5



3 daxVyLzxyt JxLxx

1 JxVyLaxy

2 T Yy Luy

3 Luu VB:2

4 JxLxx JE:3

) JxLzx JB:1,24

4 Jx(Fz AGzx)F ~Vo(Fr — -Gx)

1 Jz(Fz A Gz)

2 T Fun Gu

3 T Vo (Fr — -Gx)

4 7‘u — ~Gu vB:3

5 Fu AB:2

6 -Gu —B:4)5

7 Gu AB:2

8 Gu A —-Gu NE:6,7

9 —Vz(Fxr — -Gr) -E:3-8
10 —Va(Fr — -Gx) 3B:1,2-9



